EKANEM EFFIONG 
15/ENG07/017
PTE521
ASSIGNMENT
Question; What is the difference between Fsolve and Fzero?

The differences between Fsolve and Fzero are that Fsolve is a set of algorithms that solves a system of non-linear equations where'x' is a multivariate. It is used to solve for the zero of a single variable equation 
WHILE 
[bookmark: _GoBack]Fzero is a set of algorithms and objectives that uses a combination of Bisection, secant, inverse quadratic interpolation methods to find the root of a function of one variable in an interval.It is also used to find zero if the function crosses the x-axis
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